Advanced Algebra 2 Unit 1A – Linear Systems (Types of Solutions)


Inconsistent (NO SOLUTION): 

Two graphs are parallel. 

Algebra leads to a false statement such as 0 = 10.

Cramer’s rule leads to nonzero/zero.

Dependent (INFINATE MANY SOLUTIONS): 

Two graphs coincide. 

Algebra leads to a true statement such as 5 =5 or 0 = 0.

Cramer’s rule leads to zero/zero.

Independent (EXACTLY ONE SOLUTION): 

Two graphs intersect at one point. 

Algebra leads to this unique solution.

Cramer’s rule leads to number/nonzero.
